Title: Take Back the CBC

Sponsor: Friends of Canadian Broadcasting, independent

Target: Conservative Party of Canada
I I IS I IS S S -

\ This independent ad argues against alleged

budget cuts to the CBC, ending with a

woman saying “stop the cuts, Mr. Harper.” @
Vote Im paCt: Ad scores

Among those who have never seen the ad
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Title: Justin? Running our Economy?
Sponsor: Conservative Party of Canada

Target: Liberal Party of Canada
I S I I S S S -

In a follow-up to the CPC ad “the Interview”,
the roundtable continues to discuss

Trudeau. A woman “just can’t imagine”
“Justin” running the economy. @
Ad scores
Vote Impact:

Among those who have never seen t} the ad
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Title: “Who really speaks for the middle class?” (RADIO)

Sponsor: Liberal Party of Canada

Target: New Democratic Party
I S IS IS S S .

This radio ad compares Trudeau to Mulcair @
on speaking up for the middle class, claiming .

only one of the candidates “backs up words
with actions.” @
Ad scores
Vote Impact:

Among those who have never seen the ad
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Title: “Harder to get ahead” (TV)

Sponsor: Liberal Party of Canada

Target: Conservative Party of Canada
I S S IS S .-

Trudeau is walking up a “down” escalator,
staying in place. He states that Harper is

making it “harder to get ahead” for Canadians
and on Mulcair: “now is not the time for cuts.”
Ad scores
Vote Impact:

Among those who have never seen the ad
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Title: Not Working

Sponsor: New Democratic Party

Target: Conservative Party of Canada
I I I I S S S .

A voiceover talks about Harper’s plan to @
create jobs and stimulate economy: “Mr.

Harper, your plan isn’t working. It’s time for
change in Ottawa.” @
Ad scores
Vote Impact:

Among those who have never seen the ad
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Cheat sheet: Understanding Innovative’s ad test results

(Ad scores:

The ad scores are overall measures Gnagnostncs score:

of the quality and impact of each ad. calculated as the total of all
Three scores are reported for each net scores, rescaled to be
ad: diagnostics, sponsor impact, and out of 100. A perfect score
target impact (if applicable). Each would mean everyone gave
score runs on a scale from a a positive response on

minimum possible score of -100 to a \every diagnostic.

~

J

\

Gponsor/target impact:\
the share of other
parties’ voters that the
sponsor or target party
gained minus the share
of their own voters that

maximum of +100.

\they lost. )j

puasaj 2403s py

Pre-post tests

The pre and post test questions are
asked before and after each respondent
sees their first ad. With 200
respondents per ad, this means the pre-
post tests start with an N of 200 each.
This sample size is reduced because we
only include people who say they
haven’t seen the ad before in our
analysis.

(Vote impact: The change in vote E /
for a party from pre to post. For
example if the Liberals go from
25% to 30% their vote impact is +5
. J

A

6re/post vote: These graphs \
show the vote for each party on
both the pre test and post test
among the random subsample of
200 voters who viewed each ad

(but said they had not seen it
\Qefore). )/

~

Exposure

Out of the 600 total respondent who
viewed the ad, what percentage said that
they had seen it before the survey. Those
who had are excluded from the pre/post

\test. )

Diagnostics

\ad was made for someone like me.

Each respondent sees 3 ads in total and answers a series of diagnostic questions about each one. With an N of 200 per
ad this means that 600 answer the diagnostic questions for each ad. These graphs show the percentage of positive and
negative responses for each of the main diagnostic questions: Agree/disagree: This ad contains interesting
information; How credible is the ad?; What was your overall impression (positive/negative)?; and Agree/Disagree: This
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